GSE Geometry Unit 7 - Probability 7.5 - Practice

Name: {Q’“] Date:

Practice - Filling in Tables

The table below shows the gender of 40 randomly selected US high school students and
whether or not they have allergies. 18 of the students have allergies, while 22 don’t
have allergies. 8 Males have allergies, while 9 males don’t have dllergies. Fill out the
table, and answer the questions below. b
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Joshua did not have enough fertilizer to give to all 100 of the tulip bulbs last fall, so he
planted some with fertilizer and some without it. 80 of the plants bloomed. Jay
checked the blooming plants, and 48 of them had received fertilizer. Jay checked the
non-blo%ming plants, and 8 had not received ferilizer.
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